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CAS = 1,XYZSB,1 

 
 

 
 

 
 

4.2.3.7.   

ACC  
S-

ACC 
NBP.  

-

PLC U10N2 (ACC1 U10N3 (ACC2
PLC»). 

 
 

: 
 

ACC=acc_linear_part_S,acc_nonlinear_part_S,acc_min_exp,acc_max_exp 
. 

 
 : 

 
ACC=real,real,real,real , 

 
 

 
acc_linear_part_S - 

RAP MAN
-

RAP MAN,  4.1. 
S-

acc_linear_part_S 
 

4.2. 
acc_linear_part_S – 

 
 

acc_nonlinear_part_S - 
S-

S-
4.3 

V1, V2  V3. 
acc_nonlinear_part_S – 

 
0  acc_nonlinear_part_S  0.5. 

 
acc_min_exp - 
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RAP MAN

4.4. 
acc_min_exp – 

 
 

acc_max_exp - 

RAP MAN

4.5. 
acc_max_exp – 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

-  
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
tg( 2)=acc_linear_part_S * tg( 1) 

 
 

V 

t 

 

V 

2 

t 
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V2 –  
 V1 –  

 
 

4.3 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

V 

t 

1 

1 

V 

t 

2 

2 

V 

V2 

V3=1 

t 

V2=0.5 

V2 

V2=0.5 

V1=0 
V1 
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*1 
........... 
ACC = 2.0, 0.35, 1, 4 
*2 
NAS = X 
TPA = 1, 
........... 
RAP = 6000,600 
........... 
 

G00G91X500 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
1 –  
2 – S-  
3 -  

 
 

 
 

 
*1 
NBP = 2,ECDF 
TIM = 2,,,, 
PRO = 1 
IN1 = 1, XZ, S, 2, 16 
CAS = 1, XZS, 2 
ACC = 2.0, 0.5, 1, 4 
PRO = 2 
COM = 1, S 
IN2 = 1, XZ, S, 2, 16 
CAS = 1, XZ, 2 

+6200 
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